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Note: The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions. In case of any 
discrepancy, the English Version will be final for all purposes. 
Check your paper code and paper title before starting the 
paper. Calculators are not allowed.

{ZX}e : ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE& {H$gr ^r {dg§J{V H$s 
pñW{V ‘| A§J«oOr ê$n hr ApÝV‘ ‘mZm Om¶oJm& àíZ nÌ ewê$ H$aZo go 
nyd© àíZnÌ H$moS> d àíZnÌ erf©H$ Om±M bo& Ho$bHw$boQ>a H$s AZw‘{V 
Zht h¢&

 Section - A 8 × 2 = 16
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.
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 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e : g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1) (i) What is the meaning of symbol PSW for microprocessor 

8085?

  ‘mBH«$moàmogoga 8085 Ho$ {bE àVrH$ PSW H$m ³¶m VmËn¶© h¡?

 (ii) What is the full form of TTL?

  TTL H$m nyU© én ³¶m hmoVm h¡?

 (iii) Write the name of three basic operating modes of 8255?

  8255 Ho$ VrZ ‘yb^yV g§{H«$¶mË‘H$ {dYmAm| Ho$ Zm‘ {bImo&

 (iv) What do you mean by instruction “CLC” of microprocessor 

8086?

  8086 ‘mBH«$moàmogoga Ho$ {ZX}e “CLC” go AmnH$m ³¶m VmËn¶© h¡?

 (v) What is the full form of “EPROM”?

  “EPROM” H$m nyU© én ³¶m h¡?

 (vi) What do you understand by an “Assembler”?

  Egoå~ba go AmnH$m ³¶m A{^àm¶… h¡?

 (vii) Write the function of “Poll Command” for microprocessor 

8259?

  ‘mBH«$moàmogoga 8259 Ho$ {bE “Poll Command” H$m H$m¶© ~VmAmo&
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	 (viii)	What	do	you	mean	by	“firmware”?

  “Firmware” go Amn ³¶m g‘PVo h¡?
 Section - B 4 × 8 = 32

(Short Answer Questions)
Note: Answer any four questions. Each answer should not 

exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e : {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2) Explain the working of “RTL” (Resistance - Transistor Logic) 

circuit?

 “RTL” (à{VamoY-Q´>mpÝOñQ>a VH©$) n[anW H$s H$m¶©{d{Y g‘PmAmo&

3) Explain the Tristate Logic (TSL)?

 {ÌAdñWm VH©$ (TSL) H$mo g‘PmAmo&

4)	 Briefly	Explain	the	“ROM”?

 g§jon ‘| “ROM” H$mo ~VmBE&

5) Discuss the “Machine Cycle”.

 ‘erZ MH«$ H$s {ddoMZm H$[aE&

6)	 Draw	the	flowchart	of	the	program	loop	and	explain	it.

 àmoJ«m‘ byn H$m âbmoMmQ>© ~ZmAmo d Bgo g‘PmAmo&

7) Discuss the “Pipe lined Floating Point Unit” for pentium 

processor.

 nopÝQ>¶‘ àmogoga Ho$ {bE ""nmBnbmBZS> âbmoqQ>J nmoBÝQ> ¶y{ZQ>'' H$s 
{ddoMZm H$[aE&



598

MSCPH-08 / 200 / 5  (4) (Contd.)

8) What do you mean by “Paging Mode” for 80386?

 80386 Ho$ {bE noqOJ {dYm go AmnH$m ³¶m VmËn¶© h¡?

9) Explain the “Direct Addressing Mode” and “Register Addressing 

Mode” of microprocessor 8085.

 ‘mBH«$moàmogoga 8085 Ho$ ""àË¶j gå~moYZ {dYm''Ed§ ""a{OñQ>a gå~moYZ 
{dYm H$mo g‘PmAmo&

 Section - C 2 × 16 = 32
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  : {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10) Explain the following:

 (i) NMOS Logic

 (ii) Fan out

 {ZåZ H$mo g‘PmBE
 (i) NMOS VH©$
 (iI) ’o$Z AmCQ>
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11) Discuss the “Interrupts of 8085”.

 8085 Ho$ ì¶dYmZmo H$s {ddoMZm H$amo&

12) With diagram, explain the Architecture of 8086 Microprocessor.

 {MÌ g{hV 8086 ‘mBH«$moàmogoga Ho$ Am{H©$Q>o³Ma H$mo g‘PmAmo&

13) Explain the following

 (i) CPU (Central Processing Unit)

 (ii) Mode 0 (Terminal count) and

   Mode 1 (Programmable one shot) of microprocessor 

8253.

 >>>{ZåZ H$mo g‘PmAmo&
 (i) CPU (goÝQ´>b àmogoqgJ ¶y{ZQ>)
 (ii)  ‘mBH«$moàmogoga 8253 Ho$ {dYm 0 (Q>{‘©Zb H$mCÝQ> Ed§ {dYm 1 

(àmoJ«m‘o~b dZ Shot)


